3U - CHAPTER 7 REVIEW: Sequences and Series
Complete this review in class today. DO NOT move on to the next question until you have checked your answer with two other classmates.

1. Expand and simplify the following binomial by using Pascal’s triangle.
(3x + 2)3
2. State whether or not each of the following series is geometric. If a series is geometric, state the common ratio of the terms in the series.
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3. The 10th term of an arithmetic sequence is -91 and the 21st term of the sequence is -212. Calculate the sum of the first 22 terms of the sequence.
4. Determine the recursive formula for the following sequence.

1, 1, 7, 8, 9, 16, 24, 33, ...
5. The first four entries of the 23rd row of Pascal’s triangle are 1, 23, 243, and 1741. What are the first four entries of the 24th row of the triangle?
6. Calculate the number of terms in the sequence   14 , 1, - 12,  - 25 , ......., -233
7. Your parents put aside $200 on the day you were born.  The following year - on your birthday- they put away $50 more than they did the day you were born.  Every year they put away $50 more than they did the previous year.  How much money will have been put aside in total by the time you are 18?
8. An e-commerce company recently launched a new website. On the first day it was up, the website had 35 page views, and the company has found that since then, the number of page views has been tripling every day. Today the website had 76 545 page views. What is the total number of page views that the website has had so far?
9. Mahir has begun building a pyramid with dominoes. In total, he has 6519 dominoes to work with. On the bottom row he has used 175 dominoes, and each row of his pyramid has a fixed number of dominoes less than the row below it. Unfortunately, Mahir runs out of dominoes before he can finish his pyramid, but he is able to just finish the last row he was working on before running out of dominoes. The last row contained 71 dominoes. How many rows of the pyramid was Mahir able to complete?
